
eeu21−7n

eeu21−5a

TUBJND data of Ostwald colours, illuminant D65, Bc=0,80, Bx=2,8
351.916.529.736.841.246.151.362.377.785.288.090.3129.9141.7147.1151.4159.9160.8171.9196.5209.7216.8221.2226.1231.3242.3253.0257.7265.2268.0270.3309.9321.6327.1331.4339.9340.8351.916.529.736.80.00.0
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eeu21−6a

TUBJND data of Ostwald colours, illuminant D50, Bc=1,00, Bx=2,8
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cab,2=[ (a2 − a2,n) 

2

+ (b2 − b2,n) 
2 ]1/2

hab,2=atan [ (b2 − b2,n)
/ (a2 − a2,n) ]

CAB,2 = 2,5 [ cab,2] Y
= nearly constant

eeu21−7a

TUBJND data of Ostwald colours, illuminant A00, Bc=2,50, Bx=2,8
19.427.135.138.947.852.662.571.882.384.7133.8145.4150.7154.3161.2165.8166.3171.3186.5199.4207.2215.1219.0227.8232.6232.6242.5251.8262.3264.7313.8325.4330.6334.3341.2345.8346.3351.26.519.427.10.00.0
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eeu21−8a

TUBJND data of Ostwald colours, illuminant D65, Bc=0,80, Bx=2,8
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a20=1, b20=−0,4
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